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QUESTION 1

The CMDB contains which of the following record types? (Choose two.)
A. Model

B. Configuration Item (CI)

C. Asset

D. Relation Type

Correct Answer: BD

Reference: https://docs.servicenow.com/bundle/quebec-servicenow-platform/page/product/configuration-
management/reference/r_CMDBRecordTypes.html

QUESTION 2

Which of the following properties define the maximum overall size for the returned payload that comes from patterns?
A. cmdb.properties.payload_max_size

B. glide.discovery.payload_max

C. mid.discovery.max_payload_size

D. mid.discovery.max_pattern_payload_size

Correct Answer: D

Reference: https://docs.servicenow.com/bundle/rome-servicenow-platform/page/product/mid-
server/reference/r_MIDServerProperties.html

QUESTION 3

What role is needed by the MID Server\\'s user account to interact with a ServiceNow instance?
A. mid_server

B. discovery_admin

C. sm_mid

D. mid_discovery

Correct Answer: A

Reference: https://docs.servicenow.com/bundle/quebec-servicenow-platform/page/product/mid-
server/task/t_SetupMIDServerRole.html
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QUESTION 4

What entry point type must a horizontal pattern have to execute from a process classifier?
A. A subnet entry point type.

B. HTTP(S) entry point type if the pattern is running on a web server application.

C. TCP entry point type or ALL entry point type.

D. It does not matter, it is triggered for all entry point types.

Correct Answer: C

Reference: https://docs.servicenow.com/bundle/quebec-it-operations-management/page/product/discovery/concept/c-
UsingPatternsForHorizontalDiscovery.html

QUESTION 5

Which of the below choices are horizontal pattern types? (Choose two.)
A. Hardware

B. Software

C. Infrastructure

D. Application

Correct Answer: CD

Reference: https://docs.servicenow.com/bundle/quebec-it-operations-management/page/product/service-
mapping/concept/c_MappingPatternsCustomization.html
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